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1. axb= b x a i T fy? 

(34) HIEË 

(3) 4 

(34) 126, 20% 

5 

3 6 

(4) 8 
s. ftfefaa i 

(34) *²+ 4x + 4 
6. 3TUA àfdauf aà~ 

(34) 3HHH 

(4) Hq 

1. 

(a) 8 

(a) 126, 15% 
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126 ADOne|Deskwork| arfrA, FT-8 

CIIHS T-Ag-3T (12-21) 

(i) 3A+ 25 = B2 
(ii) 4A+ 98 = CB 3 

(1) 1 A xA =9A 

(i) 

B 

(i 

A 

C 
H1 5 }I 

H 1 I 

(iv) H 211,9 1 JUG, af 1 1 3 H11 
1 41H 6 ! 

GrY-1 

(HA/3T4) 

(HA/3HA) 
(HY/3TH) 

(H/3THeY) 

4 x 1 = 4 

4 

2+2-4 

3 

180° 

(iii) n-T0 AI aRTÀUi T 

cIHF YQA-AUg-� (16-21) 

4 

2x 180° 
=(4-2)x180° 

dsT VT--2 (3HT) !127 

5 

3x 180° 
5-2) x 180° 

4x1 =4 

4x 180° 

= (6-2)x180° 

(900°/1000°) 
(8/9) 

(n-2)x l80) 

(60°/45°) 
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() (-4)'+ -4) 

1 

5 

) (-9»x (2) 

2+2=4 

2+2=4 

HÍsT Y-47-2 (3ARH (129 
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fagElHE YA- FUg-T (22-Z5) 

(ü) aTY fa 60 4x 54 4tx 30 tI3HTT AT 6 t yTat fhtsà 

45 

E 60 

100 

|70 

50 

D 

3+3-6 

B 

(i) 2r+ 2xy + 2xz² 
(iii) a+ bx 

(ii) am²+ bn' + bn' + an' 
(iv) 7p² + 21q 

24. ych at READ, HÀ RE -5.1 á TaT áTI 

HA TR4-47-2 (*aHa) |131 

HUT ag HEAR, fMH HE =5 cm, EA =6 cm, R= 85°, t taAT GUI 

3+3-6 
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